ABTOAQ (EREXRBIRIZESD)

RH6E2H 1 BHE

. & 1Y
iﬂslz_e. BT T _7(—7—% HHFH(A)| AOB) L = AD(BA)
=2 =t 25,510 53,085 | 26,015 | 27,070 2.1
AFBEHE 306 562 218 344 1.8
BW—TH 1,912 3,858 1,838 2,020 2.0
BEE-TH 432 874 420 454 2.0
BHE=TH 438 844 400 444 1.9
B2FIETH 468 991 520 471 2.1
2EATH 894 1,711 845 866 1.9
BEIE—TH 569 1,143 579 564 20
RETE_—TH 658 1,170 503 667 1.8
BAIE=TH 318 661 306 355 2.1
BRETEMET B 644 1,358 674 684 2.1
BEIERATH 436 951 486 465 2.2
AFEBFHH 90 235 112 123 26
HE—TH 490 1,067 540 527 22
BE—TH 338 755 370 385 2.2
BRI=TH 324 760 376 384 2.3
HETMTH 822 1,865 920 945 2.3
BRTRETH 785 1,707 821 886 2.2
BHET/NTH 356 953 451 502 2.7
HETETH 647 1518 731 787 2.3
BEe—TH 453 1,014 498 516 2.2
Bae_TH 413 1,001 499 502 24
ma=TH8 346 803 388 415 2.3
BelmTH 313 792 388 404 25
BaehTH 455 943 498 445 2.1
me/NTH 412 915 477 438 2.2
ARMEE—TH 971 2,083 1,004 1,079 2.1
ARME=TH 301 577 304 273 1.9
ARMBER=TH 488 1,082 546 536 2.2
ARIERMET B 521 1,068 540 528 2.0
ARMEERET B 512 1,201 597 604 2.3
RFEE 40 100 49 51 25
2BE—TH 680 1,074 530 544 1.6
B/E_TH 376 773 382 391 2.1
7A] [ T 368 713 340 373 1.9
ZBHE—TH 650 1,399 676 723 22
EHET—_TH 1,129 2,169 1,067 1,102 1.9
= Hil T 605 1,228 597 631 2.0
BLU—TH 396 793 417 376 2.0
BU-TH 698 1,503 759 744 2.2
#IL=TH 430 896 445 451 2.1
=22—TH 881 1,693 817 876 1.9
E2_TH 692 1,358 680 678 2.0
=S2=TH 457 913 458 455 2.0
S2MTH 500 1,006 509 497 2.0
=E2RTH 506 1,044 522 522 2.1
mE&—TH 975 1,946 905 1,041 2.0
mBEa=TH 15 15 13 2 1.0




REF Bt 7,499 15,946 7,995 7,951 2.1
4 R BT 364 756 391 365 2.1
INSH—TH 1,084 2,314 1,167 1,147 2.1
INSHAZTEH 474 982 492 490 2.1
INSH=TH 426 938 468 470 2.2
INSHET B 131 268 145 123 2.0
L/NEH—TH 265 463 228 235 1.7
FINASHAZTH 33 100 53 47 3.0
FINASEA=TH 73 193 100 93 2.6
HZIR 104 190 90 100 1.8
RF/NAH 2,729 5,813 2,900 2,913 2.1
RFEHA 1,798 3,893 1,944 1,949 2.2
RFEFEILTR 9 20 8 12 22
FLUEMTH 9 16 9 7 1.8

&F &t 4119 9,164 4,598 4,566 2.2
RKEKRESF 234 565 285 280 2.4
AXFERE 1,457 3,089 1,583 1,506 2.1
KFEFMN 813 1,761 866 895 2.2
£FF R 228 605 289 316 2.7
RFA=YK 209 481 248 233 2.3
=YKX& 255 612 292 320 2.4
REERTE 199 456 221 235 2.3
RFTARTE 206 453 231 222 2.2
RFIE/KR 117 292 144 148 25
K= o 4 281 576 309 267 2.0
KFRE 119 273 129 144 2.3
BILE=TH 1 1 1 1.0

BT &t 4977 11,240 5767 5473 2.3

ZEXK |EF 3,637 7,948 4,055 3,893 22
®ULE—TH 485 1,263 655 608 2.6
REZARK 464 1,087 547 540 2.3
XFESE 4 11 5 6 2.8
AFERELIL 16 32 17 15 2.0
XFFHLE 42 88 53 35 2.1
¥ILE—TH 329 811 435 376 2.5

ke .10 15,792 34,018 | 16,645 | 17,373 2.2
AFEER 4,225 9,385 4,687 4,698 2.2
AF TR 4,059 8,890 4,398 4,492 2.2
T#&R—TH 258 518 252 266 2.0
TER=-TH 433 929 468 461 2.1
T#&R=TH 543 1,214 587 627 2.2
TERRIETH 569 1,350 631 719 2.4
T#ERATH 570 1,408 705 703 25
HEER—TH 825 1,658 774 884 2.0
HER_-TH 446 871 422 449 2.0
BER=TH 553 1,018 477 541 1.8
HERMTH 501 1,086 515 571 2.2
R RATH 729 1,455 688 767 2.0
HERRA<TH 566 1,073 514 559 1.9
R RETH 841 1,737 843 894 2.1
REER/N\TH 674 1,426 684 742 2.1

icfi:N &t 10,191 21,161 | 10,373 | 10,788 2.1
KFILF 4,381 8,184 4,007 4177 1.9
AFFH 4288 9,497 4627 4,870 2.2
RFEN 1,522 3,480 1,739 1,741 2.3

y=¥-11 68,088 | 144614 | 71,393 | 73,221 2.1




